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Q.1

Q.2

(=2

In Faraday's experiment (figure below), choose
the wrong statement

—V

Galvanometer
(A) On increasing the speed of magent,
deflection in galvanometer increases
(B) On reversing the direction of motion of
magnet, deflection in galvanometer gets
reversed
(C) On increasing the number of turns in coil,
current decreases.
(D) On keeping the magnet fixed, but moving
the coil, galvanometer registers a current.

For the wave shapes shown in figures the wave
of maximum frequency will be
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Q.3

Q4

Q.5

(=2

Which of the following quantities do not change
when aresistor connected to a battery is heated
due to the current ?

(A) Drift speed

(B) Resistivity

(C) Resistance

(D) Number of free electrons

In the network of resistors shown in the
adjoining figure, the equivalent resistance
between A and B 1s

(A) 540
(C) 360

(B) 18Q
(D) 9Q

Four pendulums P,Q,R and S are suspended
from same elastic supports as shown in figure.
Out of these P and R are the same length. Q is
smaller than P and S is longest. If the pendulum
bob P is displaced to give small vibration

504

(A) amplitude of vibration for S is maximum
(B) amplitude of vibration for R is maximum
(C) amplitude of vibration for Q is maximum
(D) amplitude of vibration for all is same

Q.3

Q4

ot # § BI=AT If¥r uRafia =181 g ® o
U de A ST Udh HICRIED, gRT & BRI T
g1 orar g 2

INELEE I

(B) ufcRTeraar

(C) FRRY

(D) oI Soldei=l Bl A=Al

e o § uefRia ufeRiusl & S §, A4
B o 49 o Ry 2

Q.5

(A) 540
(C) 360

IR UvgeM P, Q, RS 3 # TwlY R
AT YR 3R | ST<hrT SIal © | 5949
A PIR I oHE G 2 | Q, P BIeT © a1
S Wed o1 2| Afe Yvged dfd P @l oy
HH o @ ford faxenfia fvar Sirar 2
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(B)R & fordr 70— BT 1™ AfdwaH
(C) Q@ ford ¥~ &1 MM AfTHTH B
(D) 1 & for H7I~ &7 IR A &

(B) 18Q
(D) 9Q
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Q.6

Q.7

Q.8

Q.9

An observer can see through a pin-hole the
top end of a thin rod of height h, placed as
shown in the figure. The beaker height is 3h
and its radius h. When the beaker is filled with
aliquid up to a height 2h, he can see the lower
end of the rod. Then the refractive index of the
liquidis

<>

5
(A) 5

3
(©) \E

In which case work is not done

(A) a girl swimming in a pond

(B) awindmill lifting water from a well

(C) a standing man holding a suit case in his
hand

(D) a sail boat moving in the direction of mind

3
(D) 5

The gravitational force between two objects
of mass 1 kg each, separated by a distance of
Im in vacuum will be

(A) zero (B) 6.675 x 107'' N
(C) 13.350 x 1071 N (D) 3.337 x 107! N

What is the relation between the refractive
indices p, and p, , if the behaviour of light ray
is as shown in the figure.
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(A)p, > 1y
©) L=l

B)u, <y,
(D) None of these
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Q.8

Q.9

U T fa # SR SI9R Jdl h Searg o
TH Udell B & MY RR &7 v 9-Bg |
R FHdT 2 | TP B Hag 3h g T ST
Boarh g | 919 §iaR & 59 9 2h $d18 dd 9R_T
ST 8, @1 98 B8 @ dael RIR &1 <& Adhar
g, dl g9 BT Uad-id o

<>

5
o

3
(D) 5

5
(A) 5

3
(©) \g

foa Refa § o =€ foear Sirar @

(A) T&H dTermd # AR U TSl

(B) U %I A ST IGM aTell Ueb qa-ada]
(C) 311 Boif H Yo dIhx Wl gl Ud
el

(D) gaT @ &= & o= ua A1

fara § 1m0 4 96 736 | kg G914
T ARG B I YRRyl g BN
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AUqID P, T p, 4 TEE R 8 AR
THTR fhRUT T IR 3 3 S AR 2 |

Y

[

M2 (M M2

A
Hon
V%

Y

(A) By > 1y
O u=n,
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Q.10

Q.11

Q.13

(=2

Camping equipment weighing 6000 N is pulled
across a frozen lake by means of a horizontal
rope. The coefficient of kinetic friction is 0.05.
The work done by the campers in pulling the
equipment 1000 m at constant velocity is

(A) 3.1 x10%] (B) 1.5 x10°J
(C)3.0x10°J (D) 2.9 x 10%]

The centripetal force is provided to the planet
by the

(A) Force of repulsion between the planet and
the Sun

(B) Force of attraction of the Sun

(C) Heat energy of the Sun

(D) Gravity of the planet

A uranium nucleus at rest decaysinto athorium
nucleus and ahelium nucleus, asshown below.
Which of thefollowing istrue?

U —o'Th + 3He
(A) Each decay product has the same kinetic
energy.
(B) The decay products tend to go in the same
direction.
(C) The thorium nucleus has more momentum
than the helium nucleus.
(D) The helium nucleus has more kinetic energy
than the thorium nucleus.

For dynamo which one of the following
statements is correct?

(A) It converts the electrical energy into light
energy.

(B) It converts the kinetic energy into heat
energy.

(C) It converts the mechanical energy into
electrical energy.

(D) It converts the electrical energy into
mechanical energy.

Q.10

Q.11

Q.12

Q.13

6000 N ¥R & &# IUPRY Bl b &ifciol AT
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Q.14  Asingle horizontal force F is applied to a block
of mass M; which is in contact with another
block of mass M; as shown in the figure. If the
surface are frictionless, the force between the

block is
M
_E MM
LHTT777777777717i7777iiriririirii
M,F M,M,F

A) B) v
(A) M, B) M, 1M,

M,F M,F
O) o o D
© M M, (D) "M,

Q.15

Which of the following ray diagram is correct?

NNTAN:

(A)

(C) F
-
A

Image at infinity

(=2
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Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

(=2

Due to presence of which ion in aqua regia it
act as a strong oxidising agent.
(A)nascentoxygen  (B)Nitrosyl chloride
(C)Available chlorine (D) Nitrate ion

Pressure at sea level is
(A) one atmosphere  (B) 76 cm of Hg
(C) 760 mm of Hg (D) All of the above

Rate of evaporation of water :

(A) is more in coastal area than in non coastal
area

(B) is more in non coastal area than in coastal
areas

(C) is the same in both coastal and non coastal
areas

(D) cannot be predicted

Which of the following compound is most ionic

compound ?
(A)LiCl (B)NaCl
(C)RDbCI (D) CsCl

Iron fillings were added to solution of copper
sulphate. After about 10 minutes, it was
observed that the colour of the solution changed
and a layer was deposited on iron fillings. The
colour of the solution and that of the coating
would respectively be

(A) light green and reddish brown

(B) yellow and green

(C) brown and blue

(D) red and greenish blue.

The melting point temperature of the solid state
of a substance is 40°C. The freezing point
temperature of the liquid state of the same
substance will be
(A)35°C
(C)45°C

(B)40°C
(D) can’t predict

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

vaar ST 7 fh e & SuRefa & wRoT
IE el ARNBRD BT Hifd FIER BT 2 |
(A) FaTa IffeisE  (B) ARLINTA FARSS

(C) SueTel Tl (D) FTggc 3ma=

% Te1 TR <19 8T ©

(A) T& argHvS S
(C) 760 mm Hg

(B) 76 cm Hg
(D) ST T

ST & ATIHROT Bl TR
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g

(B) J1acTT &5 § AT & @) 37U 31 et
g

(C) TS & qAT AT &3 QI H FAM Bl

g
(D) S TTET HR Hhd

=1 § 9 oi=ar A gaifde smafae e
g7

(A)LiCI
(C)RbCI

(B) NaCl
(D)CsCl
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(A)35°C
(C) 45°C

(B) 40°C
(D) ST &1 B FDhd
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Q.22

Q.23

Q.24

Q.25

Q.26

(=2

When one drop of a sample is mixed with one
drop of universal indicator a green colour is

produced. The pH value of this sample is in

which range?
(A)3to5 (B)6to 8
(C)9to 11 (D)12to 14

What is the percentage of solution when 40g
of common salt dissolved in 320 g of water?
(A) 12.5% (B)14.3%
(O)11.1% (D) 10%

One of'the following is an endothermic reaction.
Thisis:

(A) combination of carbon and oxygen to form
carbon monoxide

(B) combintion of nitrogen and oxygen to form
nitrogen monoxide

(C) combination of glucose and oxygen to form
carbon dioxide and water

(D) combination of zinc and hydrochloric acid
to form zinc chloride and hydrogen

The formula of silver phosphate is
(A)AgPO, (B)Ag,PO,
(C)Ag,(PO,), (D)Ag,PO,

Based on the reactions given below, what is
the correct decreasing order of the reactivity
of the metals ?

(1) Zn (s) + CuSO,(aq)

— ZnSO,(aq) + Cu(s)
(i1) Cu(s) +2AgNO,(aq)

—> Cu(NO,),(aq) 2Ag(s)
(ii1) Zn(s) + FeSO (aq)

— ZnS0O,(aq) + Fe(s)
(iv) Fe(s) + CuSO,(aq)

— FeSO,(aq) + Cu(s)
(A)Cu>Ag>Fe>Zn
(B)Fe>Zn>Cu>Ag
(C)Zn>Fe>Cu>AG
(D)Ag>Cu>Zn>Fe

Q.22

Q.23

Q.24

Q.25

Q.26

19 vfiesl B Ue ga BT QD ab DI b
g & A7 AT ST € a1 &1 9 S Sl
21 39 ufeel & pH A9 &7 IR a1 80f ?

(A)3t05
(C)9to 11

(B)6to8
(D) 12to 14

19 40g |G 90T BT 320 g ST H Grelr
ST © d faeras @ ufcreraar @ grfy ?
(A)12.5% (B) 14.3%

(C) 11.1% (D) 10%

1 5 9 Dl AT U ST srfAfohar
g

(A) BEF AT RIS S FIo H HIE
AR FATSS &7 g1

(B) AISEIoE dT AfR{oH & Ao |
ATSEIST AFISITHATSS &7 d+]

(C) 7T TAT ST & AT H HIa
SERATATSS qAT ST BT T

(D) fSid% T ESSIFAIRG 3+l & FAo |
RN FARISS TAT BRQIST BT 1

freaR wivhe &1 93 ®
(A)AgPO,
(C) Agy(PO,),

A <) TS AffhaTe @ SMER R, grge @
ferarefierar &1 sear gonm %9 FT 7 ?
(1) Zn (s) +CuSO,(aq)

—— ZnSO,(aq) + Cu(s)
(i1) Cu(s) +2AgNO,(aq)

—> Cu(NO,),(aq) 2Ag(s)
(ii1) Zn(s) + FeSO (aq)

— ZnS0O,(aq) + Fe(s)
(iv) Fe(s) + CuSO,(aq)

— FeSO,(aq) + Cu(s)

(B)Ag,PO,
(D)Ag,PO,

(A)Cu>Ag>Fe>Zn
(B)Fe>Zn>Cu>Ag
(C)Zn>Fe>Cu>AG
(D)Ag>Cu>Zn>Fe
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Q.27

Consider the reaction :

KBr (aq) + AgNO,(aq) —> KNO,(aq) + AgBr(s)

Q.28

Q.29

Q.30

(=2

This is an example of :

(A) decomposition reaction

(B) combination reaction

(C) double displacement reaction
(D) displacemnet reaction

Singapore’s average altitude above sea level is
15 m while that of LaPaz, Bolivia’s capital is
3640 m. Water boils at 100°C in Singapore.
Which of the following can be boiling point of
water in LaPaz?
(A)373K

(C)376 K

(B) 369 K
(D) 374K

Which of the following statements regarding
non-metals is false ?

(A) 11 non-metals are in gaseous state

(B) Gas carbon is a good conductor of heat
and electricity

(C) The black material inside a pencil is metal
lead

(D) All non-metal are non-sonorous in nature

10 mL of 0.1 N HCI is added to 990 mL
solution of NaCl. The pH of the resulting
solution is?
(A) zero
(ONi

(B)3
(D) 10

Q.27

= arfafshar R foaR ST -

KBr (aq) + AgNO,(aq) —> KNO,(aq) + AgBr(s)

Q.28

Q.29

Q.30

Ig fHAPdT Th BT B
(A) ferest arffshan

(B) SareT srfafshar

(C) 3t favermu= arfafean
(D) fa=ermo= rfafdar

IR @1 998 da 9 i|d Sda1s 15m©
Stafds qiferfaar & ol o—urst (LaPaz)
B HATS 3640 m T | FRITR # STt 100°C R
Sqerdl & | 71 § | i er—urot (LaPaz) #
STl BT FaIdh 8 Adbdl 57

(A) 373K (B) 369 K

(C)376 K (D) 374K

=1 5 1 BT B SFITetl @ e A aRIe
27

(A) 11 gy -4 erawen # &

(B) 9 S ST dT fIg[d &1 U@ GaTad
2

(C) Uf<Tat & 3rex dTel Uaref Urg ol @
(D) &1 31Ty Ipfar # eafvde enht €

10 mL 0.1 N HCI faera= &I 990 mL NaCl
faera o fAemar Sar g | aRemr fae= &1

pH@&m 8 ?
(A) T (B)3
(C)7 (D) 10
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Q.31 Milk does not provide Q.31 Ty H 7 B@T ©

(A) Vitamins Aand D (A) faerfds A dem D
(B) Minerals like phosphorus and calcium (B) @ST ST BB AT DiceR—HA
(C) Iron (C) IR+
(D) Carbohydrates, proteins and fats. (D) TTalglggeH, Hiea ar a9l
Q.32 PusaLermaisanimproved variety of Q.32 Y& @A (Pusa Lerma) fhda! S=ia fved ©
(A)Rice (B) Maize (A) =mae (B) Fapt
(C) Soyabean (D) Wheat. (C) IR (D)
Q.33 Excessive exposure of humans to U.V.rays Q.33 U.V.f&xvil & A9l R srcafdes vy &
results in BT 87
(1) damage to immune system (1) Erf?R?ﬂT @ 1 arfd
(i1) damage to lungs (11) B! Eﬁ &
(iii) skin cancer (if) o e
. . (iv) Uflcd TR
(W) pepic uloers o (A) () o i) (B) (i) 7o (iv)
(A) (1) and (i1) (B) (i) and (iv) (C) (i) T2 (iif) (D) (iii) <=1 (iv)
(C) (i) and (i) (D) (iii) and (iv)
Q.34 Inthe given figurethe varioustrophiclevelsare (.34 fa w1 o # =1 diwes &Rl ®1 U RIS
shown in a pyramid. At which trophic level is ¥ oy T 2 | e W fohd Uiy R eife
maximum energy available? [haH SHoll Ut § 7

T, T,

T, \ T, \
AT, B)T, AT, B)T,
OT, (D) T, OT, (D) T,

Q.35 Coordination via the nervous systemtendsto Q.35 df3@1 T3 9 8Hx AA<Y (d IE dF gRI

differ from that produced by the endocrine IO~ G T 2IaT 2, i dfeT dF
system because the nervous system (A) @Ra, FRed qorm vera & 2|

(A) Is quick, precise and localized (B) # €1 eI o emue e & |

(B) Is slower and more pervasive (C) 3 o TR TS A R
(C) Does not require conscious activity (D) & SrefepreiiT w21 ¥ |

(D) Has long-lasting effects

Q.36 Inreflex action the reflex arc is formed by Q.36 wferadt fbar # wferadt = @1 fEfor fead
(A) Brain — spinal cord — muscles B R ?

(B) Receptor — spinal cord — muscles

. (A) 9RAH — BIwD qUS — URKT
(C) Muscle — receptor — brain (B) Tt —> B9 =vg s ARt

(D) Muscles — spinal cord — receptor (C) SRt > 7 - 7R
(D) Ul - FHIwEH TS —> UK
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Q.37

Q.38

Q.39

Q.40

Q.41

Q.42

Q.43

(=2

The decomposers in an ecosystem

(A) convert inorganic material, to simpler forms
(B) convert organic material to inorganic forms
(C) convert inorganic materials into organic
compounds

(D) do not breakdown organic compounds.

The function of the glomerulus and Bowman's
capsule of the nephron is to

(A) Reabsorb water into the blood

(B) Eliminate ammonia from the body

(C) Reabsorb salts and amino acids

(D) Filter the blood and capture the filtrate

Which of the following control the balance of
human body ?

(A) Cerebrum (B) Cerebellum

(C) Optic lobes (D) Spinal cord

A cardiac cycle involves

(A) Joint diastole-ventricular systole-auricular
systole

(B) Auricular systole-ventricular systole-
complete cardiac distole

(C) Auricular systole-joint diastole-ventricular
systole

(D) Auricular systole-ventricular diastole-joint
diastole

Which one is a micronutrient

(A) Iron (B) Calcium
(C)Magnesium (D) Potassium

A high concentration of synthetic auxins is
generally used for

(A) Weed control

(B) Enhancingroot initiation
(C) Controlling of cell enlargement
(D) Preventing the growth of'the lateral buds

Which of the following is not an endocrine
gland?

(A) Pancreas (B) Liver

(C) Ovary (D) Thyroid

Q.37

Q.38

Q.39

Q.40

Q.41

Q.42

Q.43

gRRefaa 3 # ees &1 o 8

(A) IHTEEH ST BT WA ©U H wUIRd
PRAT |

(B) @rdf® ugrel &1 rdrefe uarel #
JUMIRT BT |

(C) @& gl &I dEfIs e
JUMIRT BT |

(D) ®Tdfe AT BT T dre |

P B TAMHBAd TAT T AHYC BT BRI ©
(A) T H STl BT A-NGNTOT HRAT

(B) IRR H AT BT FIShRIA BT

(C) FqUT AT THIAT 37 BT Y: SFAITOT BRAT
(D) & BT BT TAT BT BT SIEREIT HRAT

9 5 9 AT IR & Al Bl b FRIE
PRAT B 7

(A) IRsH (B) SReeH
(C) sffficd wferlt (D) w3rwd g0
g3y Ih H gftaferd gl ®

(A) Tga R — Fer dgad — aifer=
-O

(B) 3ffer= Hager — e dega — qof gadl

(C) 3rfer= Hegar — G JARIAeT — fierg
-O

(D) arfere Hegert — g SRl — dgad

et § & ST T gerury § 2
(A) 3RA (B) dfezrH
(C) F=hfRrm (D) urcfRrs

deel Siffeas @ S=a Arsar feaa forw
AT SUART &

(A) TRUGIR =01 4

(B) It 3R¥™® @1 Ifg H

(C) Pif¥ramT <refaR & fREfa o= #

(D) ured wfcrareii &1 gfg b J

et & & I eraaTdt ufer & 2 ?

(A) 3RII (B) Fcd

(C) 3o I)RINES
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Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

Q.50

(=2

The sites of exchange of wastes, nutrients, gases
and hormones between the blood and body
cells are the
(A) Arteries
(C) Capillaries

(B) Arterioles
(D) Veins

Caecum is small blind sac which hosts some
symbiotic micro-organisms. From it a small
finger like vestigeal organ arises. This organ is
called

(A) Parotid gland

(B) Vermis

(C) Vermiform appendix

(D) Lacteals

For which values of ‘a’ and ‘b’ does the
following pair of linear equations have an infinite
number of solutions
2x+3y=7;(a-b)x+(a+tb)y=3a+b-2
(A)a=5,b=1 (Bya=4,b=2
(C)a=1,b=5 (D)a=2,b=4

Ifthe LCM of a and 18 is 36 and the HCF of
aand 18is 2, thena=
(A)2
©)4

(B)3
D)1

Four watches are ringing alarm bells in the
interval of 6, 12, 15 and 18 seconds. If they
start at the same time, how many times they
will ring together in 4 hours ?

(A)80 (B) 81

(©)20 (D)21

Find the nature of solution of the system of linear
equations given by 3x +4y=>5 and 4x — 6y =8
(A) unique solution

(B) no solution

(C) infinitely many solutions

(D) inadequate data

If x + y = 5; then find the value of
x3+y*+15xy - 125
(A)S
€)1

B)0
(D)25

Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

Q.50

Iad 9 Nad BIRBST b § Iufdne, Uy,

A4l 9 @l @ g & era &
(A) gwfaat (B) s
(C) B (D) arfefaat

O O\

AIH Y gDy & foTaH §B dguidl g&d
et ot dror e 2 | SH US 7Y SRl
AR ST el & T8 3T BE ©
(A) 3uavt 7t (Parotid gland)

(B) affs

(C) gl safine

(D) oifdeae

‘@’ dT b’ @ foa 7Hl & fow = Raw

FHAYT B B o gl & ?

2x+3y=7;
(a—b)x+(a+tb)y=3a+b-2
(A)a=5,b=1 (B)a=4,b=2
(C)a=1,b=5 (D)a=2,b=4

Ife a dem 18 & LCM a1 HCF wH3r 36
TAT 2 B, A9 a=
(A)2
©)4

(B)3
(D) 1

IR gfedl &1 ot sfedt 6, 12, 15 d2r 18
AHUS © RTAl | gorcl & | IS T T A1
3% Bl 8, 99 9 4 €< H fdha IR dre—areT
Forft ?

(A) 80 (B) 81

(C) 20 (D) 21

R TGN 3x + 4y =5 TAT4x — 6y =8
@ o & gat @1 upfa gl

(A) 3ffg<iig gl

(B) &1 & 2

(C) 3+ &

(D) o i

IR x+y=5%, @ x> +y>+ 15xy— 125 &1
LIRS
(A)5
©)1

B)0
(D)25
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Q.51

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

(=2

The value of x +y in the solution of equations

x y_5

XX =1;
43T and g SHy=lis
(A) 172 (B)3/2
(©)2 (D)5/2

In order that the six digit number 1x0x3x be
divisible by 11, the digit x should be :

(A)2 (B)1

©)4 D)5

In an examination, 34% of the students failed
in Mathematics and 42% failed in English. If
20% of'the students failed in both the subjects,
then the percentage of students who passed in

both the subject was
(A)44 (B) 50
(C) 54 (D) 56

InaAABC, £ZC=3/B=
the three angles.

(A)20°,40°,120°
(C) 120°, 20°, 40°

2(/A+ /B).Find

(B) 60°, 20°, 100°
(D) 10°, 40°, 130°

The clustering of data around a central value is
known as:
(A) mean

(C) median

(B) mode
(D) central tendency

The pair of linear equations 3x + 2y = 5;

2x —3y=7, have
(A) One solution (B) Two solutions
(C) Many solutions (D) No solution

If X is a point on the line AB and Y, Z are
points outside such that ZAXY = 45° and
ZYXZ=60°, then ZBXZ is equal to

(A) 120° (B) 75°

(C) 150° (D) 105°

Find a quadratic polynomial whose zeroes are
(2a+1)and (2b+ 1)ifaandb are the zeroes
of the polynomial f(t) = 2t> — 7t + 6.

(A) 2t -9t + 10 (B) 2 -9t +20
(C)2-T7t+10 (D) 2t> -7t + 10

Q.51

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

wfﬂav—\ffrﬁg %—% qr 2+y—1 @ gl H
X +y & A 8

(A) 172 (B)3/2

(C)2 (D) 5/2

3 o | O 3T arell | 1x0x3x, 119
IIog 8, 79 3 x 8N

(A)2 B)1

C)4 (D)5

el wliemr #, 34% faemeff wiforg # arefiof
BT & T 42% faemeft sish # argehif g
21 3fT 20% faemeff <1 fawaf # argefiof g
2, 99 <M1 Rt # Sl @9 arel faenfdat &
wfcrerd @
(A) 44

(C) 54

(B) 50
(D) 56

fey AABC ¥, ZC=3/B=2(LA+ /B)%,
g st & A BT

(A)20°,40°,120°  (B) 60°,20°, 100°
(C) 120°,20°,40° (D) 10°,40°, 130°

DGR A & IR} IR 3B & FIE DI Hed
g

(A) 5Tz
(C) wfegant

(B) g
(D) ®sirar wqfer

XA AR FH3x + 2y = 5; 2x — 3y =7

(B)® T & &
(D) &1 ®IS & 78l ©

(A) T (& & B
(C)® 3Fd &A &

afe X, a1 AB W U& a5 & a1 Y, Z9TeR
PI AR 3T f[Ig 39 UPR © f6 LAXY =45°
qA LYXZ =60°T, @8 £/BXZ RTR B
(A) 120° (B) 75°

(C) 150° (D) 105°

afg a 9T b IgUT f(t) =202~ 7t+6 & TID
2, T9 Iat (2a+ 1) @@ (2b+ 1) arern fgamd

ggus BT

(A) 2t -9t + 10 (B) 2 -9t +20

(C)2-7t+10 (D) 2t> -7t + 10
Page # 13



Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

(=2

The sum of seven consecutive natural numbers
i1s 1617. How many of these number are not
prime ?
(A)4
©)5

(B)2
(D)7

If a set of data has zero as an observation, then
which one of the following is NOT an

appropriate measure of central tendency?

(A)Arithmeticmean  (B) Geometric mean
(C) Median (D) Mode
In a right triangle, perpendicular is 1 and
hypotenuse is 2. Find the value of Lﬂ? .
I-tan” O
1
A) /3 B) =
(A) V3 (B) NG
1 R
© ©) 73
Which of the following is a pair of coprimes?
(A) (14, 35) (B) (18, 25)
(€©)(31,93) (D) (32, 62)

A batsman makes a score of 87 runs in the
17" inning and thus increases his average by
3. Find his average after the 17th inning.

(A)36 (B)38
(©) 39 (D)42
Ifx=\/_—\/§,y=\/_—\/§and

z = 3 - \/7, then the value of
x3+y3 +23 - 2xyz is

(A)—4+5— 1243 + 7
(B)—4+/5 +2.,3 +2/7
(C) 45 + 1243 + 247
(D) 4/5 — 1243 + 47

Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

AT HANTT AT FRITRAT BT ANTHA 1617 5 |
7 IRl § ¥ fhd oSy 78§ 7
(A)4 (B)2

(OF (D)7

Ife affrst & UH Tz BT Hervl I 7, a9
fAfoiRad 5 | 9T Sy ygiky o1 Sfrd
H1a el ® ?
(A) FHR 71
(C) wfegant

(B) TomeR e
(D) sgei

el TwepIor Bget 4, Ife o vd Hol HasT:

1762 2 a9 Lﬂ? BT A ¥
1-tan” 0
1
(A) 3 ® 7
1 1
(C)E (D)ﬁ

f=feRad § 9 P19 A8—8TiTI AN BT

Th gH B 7
(A) (14,35) (B) (18, 25)
(C)(31,93) (D) (32, 62)

U JooidTol 319+ 1741 ot % 87 3+ §+1aT ®
IR U YPR SHPBT gocidloll 3T 3 9
Sirar 2 1 1747 9 & 91g DT AT I
(A)36 (B) 38

(C) 39 (D) 42

afd x = J7- 5,y =5 — V3 den
z=3 -7 & a9 x3+y3+ 23— 2xyz @
a4 B

(A)—45- 123 + 7

(B)—4+/5 +2.,3 +2/7

(C) 45 + 1243 + 247

(D) 45 — 1243 + 47
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Q.65 ABCD isaparallelogram. If P be a point on
CD such that AP =AD , then the measure of

/PAB+ /BCDis
(A) 180° (B) 225°
(C) 240° (D) 135°

Direction (Q.66 & 67): Study the letter series
carefully and see, which letters are missing in the
series. Select the correct group of letters from
given alternatives which complete the series.

Q.66 a bbc aab cca bbcc

(A) bacb (B) acba

(C) abba (D) caba
Q.67 aab aa bbb aaa bbba

(A) abba (B) baab

(C) aaab (D) abab

Direction (Q.68) : The sheet of paper shown in the
figure (X) given on the left hand side, in each problem,
is folded to form a box. Choose from amongst the
alternatives (A), (B), (C) and (D), the boxes that are
similar to the box will be formed.

=

Q.68 0

(b) (©)

(A) a and c only
(C) b and d only

(B) a and b only
(D) c and d only

Q.69 Complete the analogy.
PS:KH:: MT:
(A)NH (B)NG
O LG (D)MG

(=2

Q.65 ABCD U&% |AT=<R ag4dl 2 | 9k CD W &
fog P 59 yaR & f& AP=AD g, o9
ZPAB + ZBCD &7 99 &

(A) 180° (B) 225°
(C) 240° (D) 135°

funik (Q.66 & 67): v{kj J.k dk /;kutod if<,
vkj nfk,] J.k e dkuli v{j ylr gA fn;i x;i
fodYik et I mu v{kjk d Igh leg dk p;u dift,
th J.kh dk 1.k djr gA

Q.66 a bbc aab cca bbcc

(A) bacb (B) acba

(C) abba (D) caba
Q.67 aab aa bbb aaa bbba

(A) abba (B) baab

(C) aaab (D) abab

funi'k (Q.68) : = (X) # T ™ YR &I e &l
HIEd] UH §fqd 9911 oiar g | fadeat (A), (B),
(C) Tam (D) # | 9 g1 BT TIF DI, ST a9
T IR B AT B

{

A1}

(b) (c)

(A) @ad adamc  (B) ddel aqalb

(C)ddar baard (D) ®ad c T d
Q.69 \HAT (analogy) T Yot HIFTY

PS:KH:: MT:

(A)NH (B)NG

(O LG (D)MG
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Directions (Q.70 and Q.71) : Study the
information given below and answer the questions
that follow:
‘A + B’ means ‘A is the daughter of B’; ‘A
— B’ means ‘A is the husband of B’; ‘A x B’
means ‘A is the brother of B’.
Q.70 If P+ Q—R, which of the following is true?
(A) R is the mother of P
(B) R is the sister-in-law of P
(C) R is the aunt of P
(D) R is the mother-in-law of P

Q.71 If P+ Q x R, which of the following is true?

(A) P is the niece of R

(B) P is the daughter of R

(C) P is the cousin of R

(D) P is the daughter-in-law of R

Q.72 Inacertain coding system, RBM STD BRO
PUS means 'the cat is beautiful'. TNH PUS
DIM STD means 'the dog is brown'. PUS DIM
BRO PUS CUS means 'the dog has the cat'.
What is the code for 'has' ?

(A) CUS (B)BRO

(C)DIM (D)STD

Q.73 Ifinacertain language, ANTICIPATION is

written as ICITNANIOITAP. How is
PRODUCTIVITY written in that language?
(A) CUDORPYTIVTI

(B) CUDORPYTIVIT

(C) CUDOPRYTIVIT

(D) CUDORPTYIVIT

Direction (Q.74 to Q.75) : In each of the following
letter series, some letters are missing which are
given in that order as one of the alternatives below
it. Choose the correct alternative.

Q74 a ¢ abb a bc bc ab

(A) cbcaaa (B) beecab

(C) becaac (D) acbabc
Q75 R—S —T —KSK —RK —KT.

(A) RKRTS (B) KKRTS

(C) KKTRS (D)KRSTU

)

funik (Q.70 rFkk Q.71) : uhpi nh xb Lipukvk dk
i<dj fukufyf[kr ¢'uk di mRrj nhft,

‘A+B @ 3ef 8 fF A, Bal g3 21
‘A—B’ @1 af 2 f& ‘A, B ufd 21°;
‘Ax B %1 31ef 8 fb ‘A, Bar 98 2/

Q.70 IfT P+ QR 2, d9 1 # ¥ SI4r |l
g7

(A)R, P &1 #f &

(B) R, P @) wrefl &

(C) R, P &1 g3 (aunt) &

(D)R, P &1 9 ®

Ife P+QxR ®, 99 4 # 9 o=« el &7
(A) P, R & wclioh ©

(B) P, R @ gt &

(C) P, R @ &M &

(D) P, R &1 g7y ©

Q.71

B Iiwfae 9o § RBM STD BRO PUS
P1 31ef B f& 'the cat is beautiful' @ TNH
PUS DIM STD 7 3 ¢ f& 'the dog is brown'
T2 PUS DIM BRO PUS CUS &7 312 & o
'the dog has the cat', @@ 'has' & foTQ FIT Hard

Q.72

g7
(A) CUS (B) BRO
(C) DIM (D)STD

gfg feft v #, ANTICIPATION @&t
ICITNANIOITAP fowr Srdr g, a9
PRODUCTIVITY &I g1 99T # &9 forar
STRAT ?

(A) CUDORPYTIVTI

(B) CUDORPYTIVIT

(C) CUDOPRYTIVIT

(D) CUDORPTYIVIT

Q.73

funik (Q.74 rFkk Q.75) : uhp nh xb' ¢R;d v{kj
J.khe] dN v{kj ylr g tk uhp fn;i x; fdlh ,d
fodYi e @e e fn;i x; gA Igh fodYl dk p;u

dnft ;A
Q74 a ¢ abb a bc bc ab
(A) cbcaaa (B) bcecab
(C) becaac (D) acbabc
Q75 R—S —T—KSK-—RK —KT.
(A)RKRTS (B) KKRTS
(C)KKTRS (D)KRSTU
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Direction (Q.76 & 77) : Read the situation given

Q.76

Q.77

Q.78

below to answer these questions.
a,b,c,d,e,f, g, handiare nine houses. c is
2km east of b. a is 1km north of b and h is
2km south of a. g is 1km west of h while d is
3km east of gand fis 2km north of g. 11s situated
justin middle of b and ¢ while e is just in middle
ofhandd.

Distance between e and g is

(A)2km (B) I km

(C)5km (D) 1.5km

Distance between e and 1 is

(A)4km (B)2km

(C) 1 km (D)3 km

If 547 is the code language of BAD, what is
the code language of DARK?

(A) 7-4-20-14 (B)7-4-21-3
(C)7-4-21-14 (D) 7-4-20-13

Directions (Q.79) : In the following question,
choose correct mirror-image of the Fig. (X) from
amongst the four alternatives (A), (B), (C) and (D)
given along with it.

Q.79

=

funi*k (Q.76 T Q.77) : uhpi nh xb fLFkfr;k dk

Q.76

Q.77

Q.78

i<dj futufyf[kr ¢"uk d mRrj nhft,A
a,b,c,d,e,f,g,h @ idTeRglc,b®
2kmYd # 2| a,b & lkm STRH € AT h, a
% 2km Gfeor § ¥ g, h & 1km uf¥eH # g,
Safdb d, g & 3kmyd H § T f, g & 2km
SR A 211, bdAaTc ® 7 § Reyq g, Siafd
e, hdemd @ #eg # Rerd g

edqAM gD AT I B

(A)2 km (B) 1 km
(C) 5 km (D) 1.5 km
e AT i & 7T g 7

(A)4km (B) 2 km
(C) 1 km (D)3 km

Ife 5-4-7, BAD @ didbfad WWT 8, a4
DARK & \idfad 99T w7 81T ?

(A) 7-4-20-14 (B) 7-4-21-3

(C) 7-4-21-14 (D) 7-4-20-13

fun"k (Q.79) : futu ¢'u e] fp= (X) di Igh
ni.k&cfrfckc dk bld BkFk byXu pkj fodYik
(A), (B), (C) rFkk (D) el Ii pfu;A

Q.79

=

X) X)
(A) (B) ©) (D) (A) (B) ©) (D)
Q.80 There are 23 steps to reach a temple. On Q.80 T Al H Ugam &I 23 WY (steps) & | A

(=2

descending from the temple Ram takes two
steps in the same time. Shyam ascends one
step. If they start to work simultaneously, at
which step will they meet each other ?

(A) 8th (B)9th

(C) 10th (D) 11th

H IR & oy M 779 | T ol &, I T
M TP WU Fedl & | e d T T B
HRAT IRA IR &, T DI 7T W J Tdh—GaY
31 el ?
(A) 8th
(C) 10th

(B)9th
(D) 11th
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Direction (Q.81 & Q.82) : Identify the correct pair.

Q.81

Q.82

Q.83

Q.84

Q.85

(=2

12, 20, 56, 90, 132

(A) (20,30) (B) (56,42)

(C) (90, 72) (D) (132, 110)
1,2,3,5,8,13,20, 34

(A)(1,2) (B) (13,12)

(C) (20, 21) (D) None of these
Arrange the following in a meaningful order :
1.Elephant 2. Cat 3. Mosquito
4. Tiger 5. Whale

(A)53124 B)13542
(C)32415 (D)25143

How many dots lie opposite the face having
three dots, when the given figure is folded to
form a cube?

(A) 2
€) 5

(B) 4
(D) 6

Four positions of a dice are shown below.
What number must be at the bottom face
when the dice is in the position as shown in

fig. (iii)?
(i)

(1)
(iii) (iv)
(B) 2

(A) 1
©) 4 (D) 6

fun®k (Q.81 rrkk Q.82) : Igh ;Xe dk fu/kj .k dhft,A

Q.81

Q.82

Q.83

Q.84

Q.85

12, 20, 56, 90, 132

(A) (20, 30) (B) (56,42)

(C) (90, 72) (D) (132, 110)
1,2,3,5,8, 13,20, 34

(A)(1,2) (B) (13, 12)

(©) (20,21) (D) 37 & ®1g el
feferRad 1 sriqul wH # aRerd HI -
1. gl 2. foeel 3. 7R

4. 919 5. (whale)
(A)53124 (B)13542
(C)32415 (D)25143

o # & T mpfa @1 AseR TE wA
AT ST | A g el Bed @ fauda
o fag Rera & 2

(A) 2
© 5

Td U @ IR Refed S gy 18 2
9 ot o (i) § <l T Rufa # €
a9 0T aTdf Bl W DI G&AT IR ?

(1) % (ii) %
(iif) % (iv) %

(A) 1 (B) 2
©) 4 (D) 6

(B) 4
(D) 6
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Class : X

Q.1
Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10
Q.11
Q.12
Q.13
Q.14
Q.15
Q.16
Q.17
Q.18
Q.19
Q.20
Q.21
Q.22
Q.23
Q.24
Q.25
Q.26
Q.27
Q.28
Q.29

Q.30

T O w o0 ww owwp U o w e 009w 0O wwow w o ooo

ANSWER KEY

Q.31
Q.32
Q.33
Q.34
Q.35
Q.36
Q.37
Q.38
Q.39
Q.40

Q.41
Q.42

Q.43
Q.44
Q.45
Q.46
Q.47
Q.48
Q.49
Q.50
Q.51
Q.52
Q.53
Q.54
Q.55
Q.56
Q.57
Q.58

Q.59
Q.60

oo ww» U » » OWW T »>»wwO» 00 ®» » @ W O ® T > 0 0 0 QO

Q.61
Q.62

Q.63
Q.64

Q.65
Q.66
Q.67

Q.68
Q.69

Q.70

Q.71
Q.72

Q.73
Q.74

Q.75
Q.76
Q.77

Q.78
Q.79

Q.80
Q.81
Q.82
Q.83
Q.84

Q.85

SAMPLE PAPER
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